
Name: _________________      Chem 121/ Dr. Rusay 
 

Adapted from: 
Welsh, Michael J., J. Chem. Educ. 2007,  84, 610. 

 
 
Complete the transition metal sudoku by providing the respective, correct  nine chemical symbols of 

the metals in the blank spaces.  The back is a more challenging version. 

 

“ 

“ 



 

 
Cobalt 

Ions: 
+1 or 
+2 

 
Vanadium 

 
   Nickel 

 
 Titanium 

Possible 
# of ions 
=  6 
     6 

+6 ion = 
   [Ar] 

 m.p. = 
1660 oC 

 
 colorless 
      ion 

+2 ion  
  is blue 

forms 
+2 ion 
only 

 
[Ar] 
4s23d6 

 
[Ar] 
4s13d5 

 
[Ar] 
4s13d10 

 
d = 
4.51 g/cm3 


